EARAROBEEIERT — 2 N— IBISH —F

201458/178 (B) 2EB/M\E6H

BLY v >ox2m *B7 (Ra) U5l B

EZS

& ‘ [RERSE] — | Z (&) 12000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N MEAZ— .08. _ . ) NFEE (BR)
l2lis 75y o ra—n— o2 Hes 1(0_8)6 3-2 35.6| 83.6 | 3 (458) b
LT w TRy b BXUZRESY 2 LR 45
o N pteclid :08. - . . IROERI (ER)
2 3INTHTLTF ot 2 54.0 1(7085? o %41 8.6 4 ‘g? SIS AT
R:TLLFFE2Tc B:UFELF—F Fr EF X Ty —L4
= o2 | HRE 1:08.8 10-10 | 34.8| 81.4 | 10 | 452 |=EH&EM (RR)
31510 g{t{xT# A51.0 (1 1/4) (+8) B E
L7 RYAYAT-> AT FaAR A RE
o A= . - HHET (ER)
4 plotrrF515 i 2 et 1(.;1/{1.)9 8-7 35.3| 80.5 | 9 (4238) %mg—aﬁ
A2:Munnings £#:That’s Ok Eaton & Thorne, In
= . “ o2 | BHE 1:08.9 3-4 35.9| 80.6 | 2 458 | EEIE# (3ER)
5(1|2|Z7v 73NV 7=t 54.0 ) o | W ¥3ILy k575747
R:T52T 84— B:OXENIL EvJILy RT77—L4
O G 4 2 | JIIEREHE 1:09.1 2-2 36.2| 78.7 | 1 472 | ARE (ER)
EE 4 NIL= Yy & 54.0 (1 1/4) (0) /(H) GilL—>9
L:woNnNyghrx B:FHhIRNYT HET77—L4
w s ¢ = f o2 | AR 1:09.3 10-10 [ 35.4| 76.5 | 6 446 | EREE (FF)
717115 SO R=IN=HTZ 54.0 (11/2) (-6) pusc &3
RFFHRFFLT BYATTE BMEAZZY K
= s 2 | EEREN 1:09.5 8-7 359|745 | 8 456 | EER— (FH)
8 7 ILT1—%4 54.0 (1 1/4) (+6) BHRESt IV
R:Z2ZyYyzlb BEYZXTYLT ST -4
= o2 | ERH 1:09.6 6-6 36.2| 73.7 | 12 | 470 | WA= (ER)
9 1| E¥/77xX2X 54.0 (1/2) (+4) | REAET
Lt/ Taq4 B TIYI5R 1 &4
. . . HEBER :09. — . . SHE— (ER)
10 5| EX ALY 2T 42 oy 1(/(\)%; 13-13 [ 35.4| 73.4 | 14 (4_368) il
R:29r T v F—F7—K—FK B:H b/ HI5 FHBE%E
(RSN 4 o2 | ERHN 1:09.9 10-12 36.0| 70.5 | 15 44 | BEAEZ (EX)
117114 A AR 540 (1 3/4) o) | R 1
RixvyUgdyEk B:TIFFI4Y FEME
L N— S 4 2 | HALBLE 1:10.5 6-9 37.1] 657 | 7 456 | BREIE= (R)
12(1]1|71=N=F 27841 54.0 (31/2) 1oy | 8w
LFFHRTFT BihyTTIELS b FRES
NP o2 | BAR 1:10.5 16-14 | 35.7| 64.3 | 17 | 456 | XiREHEZ (ER)
13/8[17| Y31 TE= b 54.0 (7€) o |Elims
B T N T = TN B R Es e
SV Iz 4 2 | BEREX 1:10.6 14-15 | 36.1| 63.6 | 18 | 384 |EHEE (ER)
145 9 | T IVFIX Y -0 (3/4) (1) |
R:hxexY B RY—LXZ— b L4
= ;55 i o2 | BERX 1:10.9 18-18  [35.9| 60.3 | 13 | 404 |fERRIEM (5R3%)
15/8/16| 7/ 77FF 54.0 (1 3/4) 4y | KEBE
R:VvAT7>byh— B:T7ALINILY JIZANL—Z T -
A 2 so2 | JIERE 1:10.9 15-17 36.2 | 60.7 | 11 468 | BHERE (ER)
16l 8| O 77 =7 54.0 (74%) 4oy | @ E4h - TYU—F—X - 1254
x>y /%% B:T7—IY—FAX BRI
17BN 6| TN HIT< VY fo2 | BEEE 1:(151).8 16-15 [ 37.0 | 53.2 | 16 (11113:) %Eg (FR)
RN=YIT1 B:3IZXFYa1—X 11485
— e = f 2 | BER 1:12.7 1-1 40.4| 51.0 | 5 486 | BRERFIZ (5E3R)
18|18 18| =K~ EHAN—T— 4510 (5) 4oy | IHEARS
L:Jr7—3IUT7> Bk EREAS KBS
@ 21 L
£y 47.1-36.3
Na>24 4L | 11.5-10.0-10.8-12.1-11.7-12.5
® I—F—&EBIERL
13—7-
23—7F—
33—+ — 18-4(2,13)3(1,11) (7,12) (10,14,15)5-9,8(6,17) 16
Mal=5r= (x18,4,13) (2,3)11(7,12)1(10,15)14,5-17(6,9) 8,16
[ N5
B Oj 13 580H 794K 3-13 440 & 2-7 480M &R 3-10-13 9,840/
# B 13 180F4 10-13 2,310 B E 3-13 1,330 EE 13-3-10 45,220
3 200M 3-10 2,310 B H 13-3 2,750
10 660

ABICOVWTRDTEEERROODE. TR LIV,




